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— fi% & &t F15 8,482,749 501,411 8,984,160
ERERRKRER=E 1,865,697 1,865,697
B EnEERRNN &5 216,620 216,620
nTERRKR®S N = 1,017,830 1,017,830
NEY—ERERSE 31,226 31,226
TKRKEFEXRNRE 1,009,622 1,009,622
MK RERFINRE 800 800
w & & 12,624,544 501,411 13,125,955
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1 H Vi 4,744,445 4744445
2 K E 5 49,600 49,600
3 M O F A X & = 2,000 2,000
4 B OB B X £ 10,000 10,000
5 MAZFREMBIXGE 9,000 9,000
6 EAFTEBIXMNE 105,568 105,568
7 WMAHEHEBRIMNE 582,000 582,000
8 BEMHRIAXF= 6,000 6,000
9 M A H X MF & 22,000 22,000
10 #1 A X f B 1 1
11 REREHEEIXTR 3,900 3,900
12 2#EERVEESR 119,540 119,540
13 EFAMRYFHH 52,901 52,901
14 B E X H % 1,375,253 1,375,253
15 & 52 H & 774,756 774,756
16 Bt E 1 A 29,595 29,595
17 & 5] & 130,002 130,002
18 #% A & 343,167 291,411 634,578 - HEARESBRAS
19 #& 4 i 30,000 30,000
20 &% I A 32,321 210,000 242321| - BRBIGEIL I 7 AHESESE LS
21 HT &' 60,700 60,700
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il B fHIERTDEE| 4 IE %8 & HEBEOELAR
1 & & 7 84,891 84,891
2 #& % 7 1,294,093 1,294,093
3 R % & 3,335,900 3,335,900
4 @ % & 720,369 720,369
5 % & = 2,745 2,745
6 B M K E X & 56,139 56,139
7 ™ I & 26,978 501,411 528,389| - 3ETLI 7T LM ESHREEE
8 = K & 914,036 914,036
9 H ;] = 323,845 323,845
10 % ] = 1,174,923 1,174,923
nm K F # B # 0 0
12 2 & & 537,229 537,229
13 & 52 H i 1,601 1,601
14 % ] & 10,000 10,000
A = 8,482,749 501,411 8,984,160




